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SECTION B  ( 30 marks )

Answer all the questions.

Diagram 1.1 and Diagram 1.2 shows the procedure for using a vernier callipers to measure the diameter of the steel ball.





(a)
(i)
What is the value of the smallest division  of the vernier callipers ?



…………………………………………………………………………………………

[1 mark]


(ii)
What is the zero error of the vernier callipers ?



……………………………………………………………………………………………

[1 mark]


(iii)
Find the correct reading for the diameter of the steel ball.

[2 marks]


(iv)
What is the function of the part labelled X ?



………………………………………………………………………………………………

[1 mark]

(b)
A student uses the same vernier callipers to measure the side of a cubic block. He takes five  
readings at various positions on the block and records his readings in  the table below.

	Number of readings
	1
	2
	3
	4
	5

	Length of the side/ cm
	5.22
	5.23
	5.21
	5.19
	5.24



(i)
What is the average length of the side of the cube ?

[2 marks]


(ii)
What is the purpose of using this procedure to find the length of the side of the cube ?



………………………………………………………………………………………………….

[1 mark]


A train starts from rest and accelerates uniformly. It travels 460 m in 22 s. Find


(a)
the acceleration of the train









[2 marks]


(b)
speed at the end of 22 s









[2 marks]

The ticker tape chart belows shows the motion of a trolley which pulls a ticker tape under a ticker timer of frequency 50 Hz.



Each strip of ticker tape contains 6 dots.



(a)
What is the time taken for one strip of the ticker tape?



………………………………………………………………………………………………..

[1 mark]


(b)
What is the total distance travelled by the trolley?



………………………………………………………………………………………………..

[1 mark]


(c)
What is the type of motion represented by the ticker tape chart?



……………………………………………………………………………………………….

[1 mark]


(d)
Calculate the average speed of the trolley

[2 marks]



(e)
Calculate the speed of the trolley in 0.4 seconds.

[1 mark]


(f)
Calculate the acceleration  of the trolley.













  [3 marks]



The graph below shows a velocity- time graph for a student cycling from his house to school.



(a)
Did the student stop on his way to school? Explain.



………………………………………………………………………………………………….



………………………………………………………………………………………………….

[2 marks]


(b)
How long does he take to reach his school (in minutes )?



………………………………………………………………………………………………….

[1 mark]


(c )
State at which part of his journey is he moving with:



(i)   uniform velocity:            …………………………………………………



(ii)   uniform acceleration :    ………………………………………………..



(iii)   uniform deceleration  :              ………………………………………………….

[3 marks]


(d)
Calculate the distance moved in the first 20 s.

[3 marks]

SECTION A (20 marks)





Jawab semua soalan. ( Tulis jawapan anda di ruangan yang disediakan pada muka surat 2)


Answer all the questions. ( Write the answers in the table provided in page 2 )











1.   Yang manakah di antara berikut adalah unit asas SI?       


      Which of the following is a SI base unit?


    A   decimeter


    B   meter


    C   kilometer


    D   Megameter





2.     Rajah di bawah menunjukkan sesengat pada tolok skru mikrometer   


      Diagram below shows the scale of a micrometer  screw gauge.























    Berapakah bacaan tolok ini?


   What is the reading of the micrometer ?


    A    7.82 mm		 B   7.28 mm


    C    7.32 mm		 D   7.88 mm





3. Yang manakah di antara ukuran berikut yang          


    paling kecil nilainya?


    Which one of the following measurements is  


    the smallest ?


A 1.5 x 10 2 kg    B 1.5 x 10 7 g    C 1.5 x 10 12 μ g





4. Salah satu contoh ralat bersistem adalah   


   An example of systematic error is


      A   parallax error


      B   zero error and end errors.


      C   human reaction time when using a      	stopwatch


      D   wrong technique in measuring a physical     	quantity.





5.  





6.  A student walks from R to U along the path shown in the diagram below.























    The  displacement of the student is


     A     12 m 		  B    5  m


     C     13 m		  D    6  m





7.   A car start from rest and moves with a uniform     


       acceleration of 2.0 ms-2 for 3 .0 s. What is the    


       average speed of the car ?





      A   9.0 ms-1		  B   10.0 ms-1


      C   6.0 ms-1		  D   3.0 ms-1





8.    A car is travelling at a speed of 90 kmh-1. 


	What is its speed in ms-1 ?


       A   30 ms-1   		B   25 ms-1


       C    18 ms-1		            D    9 ms-1





9.   Which of the following expression is the 


	largest ?


       A   2.3 km			B   0.023 Gm


       C   0.0023 Mm		D   2 300 000 mm





10.   An experiment is carried out to find the 


        relationship between mass and acceleration of a 


        trolley on a wooden runway. The experiment is 


        repeated by adding the number of trolleys.


        The responding variable in this experiment is





A    the length of the wooden runway


B    acceleration


C    mass


D    time





























      


	Which of the following is true about the motion of the car?


      A   The  car is at rest from 10 s to 16 s.


      B   The car stops after moving for 20 s.


      C   The maximum acceleration  of the car is 


		0.25 ms-2


      D   The distance of the car travels with constant 	speed  is 24 m.
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17.  Which of the following concerning a pair of vernier callipers is not correct ?





       A    Take the zero error before measurements 	  taken.


       B     It can be used to measure the diameter or 	  a test tube.


       C     Tighten the measured object at the gap 	    	   until ticking sound is heard.





18.  A van is at rest and then travels at constant speed  towards its starting point. Which one of the graphs best shows the relationship between the van’s displacement, s and time, t ?


















































19.    Which instrument is most suitable for the    accurate  measurement of the thickness of a piece of paper ?  


        A   micrometer screw gauge


        B    metre rule


        C   Vernier calipers





20.   Which of the following is not a vector  quantity ?


        A   Speed			B   Momentum


        C   Acceleration		D     Force











11.   Temperature, mass and volume are


    	A   base quantities	B   scalar quantities   


    	C   vector quantities


    


12.  4 men A,B,C and D took part in an archery event .The positions of arrows on each target board are shown below.


	
































    Which one of the board has an accurate but not 


    consistent distribution of arrows?





13.  Which of the following is not derived from the 


        quantity of time ?


        A   Momentum 	B   Density


        C   Velocity	D   Force 





14   The ability of an instrument to detect a small 


       changes in the quantity to be measured is 


       called


      A   accuracy		B   precision


      C   sensitivity	D   error





15.  Diagram 1.1 shows the existence of zero error 


       when the gap of a micrometer screw gauge is 


       closed.


       Diagram 1.2 shows the reading of the 


       micrometer screw gauge after an object is


       placed for the measurement of its thickness.
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Diagram 1.1                  Diagram 1.2





       The actual reading of the thickness is


       A    2.25 mm	B      2.28 mm


       C    2.75 mm	D      2.78 mm








16.  A van at a velocity of u ms-1 is decelerates at


	 5 ms-2 until it stops. If the distance travelled is 10 m, what is the magnitude of u ?


     	 A    15 		B   50


    	 C     2		D   10
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* Please write your answers in this table.
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Diagram 1.2
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GOOD LUCK!








